RETROFIT
QUICK LIFT

© Hedson Technologies AB 2015

Sl =d
S
)JJMH
N =
N=I0
A NN
L




M12 M6

M20

M4 M20x45

M12x20 PT8x20 Méx12

M4x35 M6Xx20 M6X55

x11

x1

x1

x1
?@‘.

x4
)

x11
T

x4

—

NEO) E—

R @













-(E)

®____,7




|

M6X20 0
M6 (@)
‘, X2 7 X2 >mm




@
=




HH
—t







11

Pz2

PT8X20

X4ﬁx4

1

—f—————fﬁﬁ,,,

/

S I —

X







=

| / | 60kg

‘ A
\ o
\
\
\ -‘
\
r - /

-

30mm

M20X45 M20 o
M6X12 o
x1 ' X 6
\ep

Al (BN F
(0 |

MAX
GOk




@
TN

& €




15






A

IMPORTANT!

Read operation manual part# 230312
before operating QuickLift

17



18




QUIGK LIFT

PAT. PEND.




Hedson Technologies AB
Hammarvagen 4

232 37 Arlov, Sweden
Phone +46 40534200
Fax + 4640432901
www.hedson.se



